20238 =

=0l

AN & O &

A LB OlsE AU 0t

=M OFEEAED

STt U

A

Al A

M O SXSI(ABIEXN/ES - HEL0H)
o9 ddg=A S (CHo]: Mol
DA - FE - BRI(EH) - HRAR - BaS o v ] bl D2
OtSEAE 41,777,400 38,863,875 2,913,525
= 16,629, 150
z 991,786
p) 2,404,415
[ 10,143,487
Al 11,440,361
= 168,201
oa EXNST(ABIEX/ES - IIEL0A) 3,876,397 4,616,571 AT40,174
= 267,467
p) 1,819,372
[ 394,031
Al 1,395,527
CEEWNES 3,876,397 4,616,571 AT40,174
= 267,467
p) 1,819,372
[ 394,031
Al 1,395,527
CEENGECEN EFIEEES] 99,930 69,680 30,250
201 L2 A 34,370 33,620 750
01 AFR2t2IHI 33,770 33,020 750
OSEIEETIL L HOIXMANE NS 2ZAIR &
o4t 920
—Jlz= 250,000 1Al2H23] 500
T = 120,000+ 1Al2H23] 240
-0l 90,0004+ 1223 180
ONX L ASH S |0 850
— =X 5,000 1500H 750
—LHXI 50024 %2000H 100
OOlAII=EAR =7 340 HIF
60,0002% 10 600
OQI2+01 &Y HIZ 100,000 % 1574 1,500
OUNBSARS| S Ba4rY
70,0002 +20 2 *13] 1,400
O J|2nSH|
9,0002%1,300H*13] 11,700
OOtS0iS =20y E22E M
1,800 %5001+ 185 16,200
OJ=EZIG THOIZE AlAH
600,0002* 14! 600
02 2Z2%H| 600 600 0
OO0{AOSHAXIZI0IE ®IIRS
50,00024% 122 600
301 LEEXS 3,060 3,060
11 BALAHIXIS 3,060 3,060 0




M OlsEAE

HE: O SXNE(AEIEX/ES - IIEL0A)
@2l eskl S (chel: & 2l)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
OWARXICAH A&A o WKEA o]
90,0004+ 17223 3,060
307 2I2t01® 62,500 33,000 29,500
02 QIZFAAIAIIE X 53,500 33,000 20,500
OAIBIO| B8t XIAZAL A (BES HH)
30,000,000 % 14! 30,000
OWSRICR 22Ut WK(EES 80%)
12,500, 00024 % 141%80/ 100 10,000
OWAEH SHOISHEI(B XS 90%)
15,000, 00094 % 141%90/ 100 13,500
04 DIZFHAIAII B R 9,000 0 9,000
OY - 18 Y-S 9Ist YHBSFT2 I|ZSAL X
(BZE 90%)
10,000, 00094 % 1A41%90/ 100 9,000
FEESEINE] 17,080 9,030 8,000
201 LBh2y| 1,130 1,130 0
01 AFR2r2IH] 1,130 1,130 0
OCI23PIEXAE S| 59 &4l 4+
70,00024%924%13] 630
OCt23} 2 AIREE 22
100,000 %53 500
301 LEEAZ 900 900 0
11 ALK 2 900 900
OCI23PIIE Al 2 1S &4 ot
90,0002%102*13] 900
307 SIZH0IA 15,000 7,000 8,000
04 QIZEEHAL 12,000 0 12,000
OCHR3Pt SOt (BES 80%)
15,000, 00024 % 141%80/ 100 12,000
11 AFBI= XAl B R 3,000 3,000 0
oct2stae TN X
3,000,00094% 14! 3,000
220 E X 77,200 45,600 31,600
201 LBh2y] 59,000 17,000 42,000
03 BAr2 2] 59,000 17,000 42,000
OMOME Bt 30019 OHiitEt 2
24,000,000 % 14! 24,000
OBUIIE L2t 201048 =l
25,000,000 % 14! 25,000
O= Jt= &M Zdoldiol 29
10,000, 00024 % 14! 10,000
301 LBHEXZ 3,200 1,600 1,600
T EES 3,200 1,600 1,600
OMOME Bt 30019 OHitEt 2
400,000 %83 3,200
307 EI2t0[® 15,000 27,000 A12,000




2A: OFSHAED
HM: 8 SXSX(ABI=EX/ES - IEL0A)
el E=X Sd (CHl: X 21)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
02 QIFAAAIRIE X 15,000 27,000 A12,000
OX0Pl=E IIEARAY 29
15,000, 00024 * 14! 15,000
EEEBIESNEY 11,000 11,000
201 L2 A 5,000 5,000 0
02 2229 5,000 5,000
OSXUHARF AMHIA ZEHEXIN S e~ 12IRERS
5,000,0002 % 14! 5,000
301 YB3 6,000 6,000 0
02 ALBI2RE LGS (FAHS, XILHH) 6,000 0 6,000
OsR2IIE I ISnS
300, 00024 +20H 6,000
ZANLLMHAL X 7,560 36,560 A29,000
301 YBEAZ 7,560 7,560 0
03 ARRIEEEAH2(XIL ) 7,200 0 7,200
OYZ AR MM QIE L Orig
150,000 <42+ 12& 7,200
11 BAFAIHIXIR2 360 360 0
OJEZE Me9 1g B4 oY)
90,0002 %41 360
Ot0l1 AlL} AlLH=0IH 29 105,826 105,826
101 Q124H 74,806 74,806
M IIIRI22IEES 74,806 0 74,806
O=0I6ESsIt § 212d| 74,806
-J|123 9,620 *8A|2Hx32x260 2! 60,029
—F5rd 9,620 *BAI 23 x50 12,006
Y= 9,620R*8AI2Hx3Hx 12 2,771
201 L2 A 23,020 23,020
01 AFR2t2IHI 12,580 0 12,580
OF=I| itz 40,000 %1221l A 480
OMRES 7Y 100,000 % 1224+ 1JH A 1,200
O=0lE 29 258 7Y
150,000 % 122410 A 1,800
OE=22(21E2%) M=
50021% 1, 5000H* 174 A*23] 1,500
OoRdArs g9 800,000 * 1) A 43 3,200
O2V1E =5 24
800,000 14 A#13] 800
Ofo1dd| 24 300,000 %122« 14 A 3,600
02 2329 10,440 0 10,440
OMIg= 500,000 1A 122 6,000
OMBIEE A2
100,0002* 14 Ax 122 1,200
OARL +HKXIH|
3,000,0002*1HA 3,000




2 OlSEAED
HM: 8 SXSX(ABI=EX/ES - IEL0A)
el E=X Sd (CHl: X 21)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
OQIHY A23ld AR
20,0002 %12 240
206 XHEH| 3,600 3,600
EED 3,600 3,600
OoZzd M=l 300,0002 %12 3,600
301 YBEAZ 2,400 2,400
14 J[EIEAS 2,400 2,400
OZZ2 A
100,000 *2A| 2H+ 122 2,400
405 KHAHE SH 2,000 2,000
01 XA SEF SH 2,000 2,000
O=s0lE 227 2,000
—LESAFH 2,000,000 %1 Al 2,000
Ot0l! AlL} A2l=01H 29 85,960 85,960
101 2124 62,340 62,340
M IIIR22ISES 62,340 62,340
OS0IEHESIH S 0124 49,872
|23 9,620 *8A| 2H 2% %260 40,020
—TRrd 9,620R*8AI 22 x50 8,004
— ARG 9,6202+8A|2H2Zx 122 1,848
SO0/EEHEA 22| 18 12,468
—J=2 9,620 %4 Al 21 %260 10,005
—F54g 9,620 4 A1 2bx 12 x50 2,001
—Ex5Y 9,620 *4 A 2bx 1212 462
201 L2 A 18,620 18,620
01 AFR2t2IHI 8,180 8,180
O&=I| extz 40,0002+ 122 %1 A 480
OARES +Y 100, 00024+ 122I% 10 A 1,200
O=0lE 29 25 22
150,000 % 128410 A 1,800
OE22(2IE%) N
5002% 1, 5000H* 174 A*23] 1,500
ORHASE 29 800,000 * 174 A %43 3,200
02 232%H| 10,440 10,440
OMIg= 500,000+ 1A 122 6,000
OMBIEE A2
100, 00024+ 104 Ax 122 1,200
OARL2 +HKXHI
3,000,000 *17H A 3,000
OQIEY MBIA AR
20,0002 %122 240
401 AlAH| 2 S OHH 5,000 5,000
01 Al&H] 5,000 5,000




2A:

X XH -
(=

OtsEAE

e SRS (AEI=EX/ES - Ot

Jn
0
2
Z

@2l eskl S CEEEED
SN - BB - S(3H) - MISAY - BAS ollArol ] Hm=2
OO010I! AlLE A2I=0IH & ZHIJIAIE
5,000,000 % 14! 5,000
(2)HUIIAE L CIRsE XIfHEH 29 406,760 354,960 51,800
J| 203,380
= 61,014
Al 142,366
307 QI2t0| M 406,760 354,960 51,800
J| 203,380
& 61,014
Al 142,366
05 OI2t2(& 2 406,760 354,960 51,800
O - URsIEXHE E8AMEIA XK
406,760,00024 14! 406,760
J| 203,380
= 61,014
Al 142,366
()RS HSAIY 388,258 346,128 42,130
J| 194,129
& 58,239
Al 135,890
307 212+01 A 388,258 346,128 42,130
J| 194,129
c 58,239
Al 135,890
11 AISIEXIAIEE R 388,258 346,128 42,130
OURIIEEHTIAIY
368,258,000+ 14! 368,258
J| 184,129
== 55,239
Al 128,890
OZ=0|2Xt Ae2st K&
20,000,000& =14 20,000
J| 10,000
& 3,000
Al 7,000
(2)eERIENEHLESHIENH 1,681,004 1,208,810 472,194
J| 1,344,803
c 100,860
Al 235,341
301 YEtENZ 1,681,004 1,208,810 472,194
J| 1,344,803
= 100,860
Al 235,341
01 AIBIE& LGS (2D EXTHS) 1,681,004 1,208,810 472,194




M OtsEAEn
M o4 SIS (MIISX/ES - IIBLHA)

&2 -85Sk S& (chel: & 2l)
SA - FH . ERI(B) - HIRAY - A il ko ] HI D=2t
Oots&=H| X1 1,631,344, 0002 %1 Al 1,631,344
Il 1,305,075
& 97,880
Al 228,389
OFototssHl X1
4,000,000&~12& 48,000
Il 38,400
= 2,880
Al 6,720
Osnsstd stg3H| N
83,0002 %202 13 1,660
Il 1,328
= 100
Al 232
(VAR EHLSHIXIR 7,500 8,400 A900
Il 6,000
= 450
Al 1,050
301 LBIEHSF 7,500 8,400 2900
Jl 6,000
= 450
Al 1,050
01 ABI2EE G (SLEZTHR) 7,500 8,400 2900
Oots2=HIE X 7,500,000 1Al 7,500
Il 6,000
= 450
Al 1,050
(2)22H220ISLSHIX2 31,200 0 31,200
= 15,600
< 4,680
Al 10,920
301 LEtEd S 31,200 0 31,200
= 15,600
& 4,680
Al 10,920
01 AISI2EX6IZ2(FD2ZA) 31,200 0 31,200
Oots2=H| XA 31,200,000 * 1Al 31,200
= 15,600
& 4,680
Al 10,920
()12 gL 2SR 201,662 206,773 A5, 111
Il 70,640
= 39,306
Al 91,716




A
K| XH -
(e
el

(== NS

Ol8 SXSX(ASISK/ES - ISUCIA)
olE=X S

S - Y- S9IE) - AIRAY - BaS Oflero e H DSt
307 2120l 201,662 206,773 A5, 111
l 70,640
= 39,306
Al 91,716
10 HSISXANEEE2EBI2X 201,662 206,773 A5, 111
OJtd =884 28 N2
201,662,000 %1744 201,662
7l 70,640
s 39,306
Al 91,716
(=)t =R UIGHA2 2HIXIA 600 600 0
7 420
= 54
Al 126
307 2120l 600 600 0
D) 420
= 54
Al 126
01 S H 2| 600 600 0
O =TI 2H KR
600, 00021%1 4! 600
l 420
< 54
Al 126
(2)HEM=Z LB IHE 2 206,294 205,597 697
= 103, 147
= 30,944
Al 72,203
307 212+01d 206,294 205,597 697
= 103, 147
s 30,944
Al 72,203
05 2ItAE= 206,294 205,597 697
OMYHME 2 206,294,000 2% 14! 206,294
= 103, 147
= 30,944
Al 72,203
(B)EM2LEDIME 2 (X&) 94,000 94,000 0
= 94,000
307 eIZto| A 94,000 94,000 0
= 94,000
05 2I2t?(& = 94,000 94,000 0
OMEdIE M=l
94,000,000 %14 94,000




FA: OtsSEAEL

M N SXSE(AESX/ES - HEL0A)
el Hg=sAl S8 (G2 &)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
| = 94,000
(2VHEMZLEPIME 25 (ML RIEH]) 68,400 79,600 A11,200
= 54,720
[ 3,420
Al 10,260
307 2I2H0IA 68,400 79,600 AT1,200
= 54,720
[ 3,420
Al 10,260
05 DI2IRIErS 68,400 79,600 A11,200
OMHIE oI 68,400,000 x 1Al 68,400
= 54,720
[ 3,420
Al 10,260
BEEENE 119,573 116,213 3,360
[ 35,872
Al 83,701
301 LBtE A= 31,240 27,880 3,360
[ 9,372
Al 21,868
01 AFBIEEESHB(ZDEEML) 31,240 27,880 3,360
OZ&0leIid nsHl XY
1,000,0002 %14l 1,000
[ 300
Al 700
OCI23IIHE SXAIA BAK &
140,000+ 18 12& 30,240
[ 9,072
Al 21,168
307 2I2H0IA 88.333 88,333 0
[ 26,500
Al 61,833
11 AISIE XA E R 88,333 88,333 0
oteshis 28Y 29
13,000,000 14! 13,000
[ 3,900
Al 9,100
OUIREIE Sstmz0 29 1
12,000,000 * 14! 12,000
[ 3,600
Al 8,400

OZ201210{d 0ISAHUHUAL LA2IEE XIZ
63,333, 0003 *14] 63,333
19,000

H




2A:

(O ==ps]

AU

MO 018 =AUSM(AE=K/2S - ISU0I)
Pl 082X =7 (cisl: 2121
A EH - SRI(E) - KIRAY - BAS ol v ] HIDE2
| Al 44,333
(D)CEIELELSAERY 7,200 9,600 N2,400
= 2,160
Al 5,040
301 2N S 7,200 9,600 A2,400
< 2,160
Al 5,040
01 AR 2 X462 (R 0EXTHE) 7,200 9,600 2,400
OUEsPIE L2usACA 2K
100,000 6+ 12& 7,200
= 2,160
Al 5,040
(Z)eR20=X3 160,000 169,500 29,500
< 27,200
Al 132,800
301 LErEd = 160,000 169,500 29,500
S 27,200
Al 132,800
01 AlSI & X262 (2 NEETHE) 160,000 169,500 29,500
OstR2IIE 2sdat|
100,000&*260H x4 104,000
< 10,400
Al 93,600
OB XA [stelara
2,000,000&*15H 30,000
S 9,000
Al 21,000
OR2 HH =SSt Y= sts2 x|
100,000&*110 11,000
= 3,300
Al 7,700
OtR2 S8y Xt W=H|
300,0002+50 15,000
= 4,500
Al 10,500
(Z)HHSRE I EHLSHI X2 72,000 72,600 2600
< 21,600
Al 50,400
301 LerEd= 72,000 72,600 A600
S 21,600
Al 50,400
01 AlSI & X262 (2 NEETHE) 72,000 72,600 2600
OFIHS=RL T4 2=H| X
72,000,000 14! 72,000




FAM: OlsEAE D
Mo ofd SXSH(AEIST/2S - ISU0IA)
el Old=A Sd (EERSED)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
& 21,600
Al 50,400
(D) ZSH2ABHAESAIR=E R A 8,400 8,400 0
< 2,520
Al 5,880
301 LetE &= 8,400 8,400 0
= 2,520
Al 5,880
01 ABI2EE 2GS (S LEXZTHE) 8,400 8,400 0
OUAZHBRAIL BAT 42
140,00021+5 2% 128 8,400
& 2,520
Al 5,880
(Z)HEMZLBIME SAIR HIHAH| K& 11,040 5,520 5,520
= 3,312
Al 7,728
301 LBtEdZ3 11,040 5,520 5,520
& 3,312
Al 7,728
01 ABI2EE 2GS (S LEXZTH) 11,040 5,520 5,520
OWEMZLoIHH SAL MSIHLHl XA
230,000&*4H+12& 11,040
< 3,312
Al 7,728
()L =ZHUGHAESAIA 8,000 8,000 0
& 2,400
Al 5,600
307 2IZtol & 8,000 8,000 0
L= 2,400
Al 5,600
11 A= XA E S 8,000 8,000 0
OZTHx 2% 8,000,000 %174 8,000
= 2,400
Al 5,600
OISES =X (AIRSX/ES - IIFL04A) 35,538,861 32,176,087 3,362,774
= 16,309,417
s 817,586
| 186,514
& 9,611,432
Al 8,602,110
= 11,802
SEE IIEXA 35,538,861 32,176,087 3,362,774
= 16,309,417




2A: OFSHAED
MM OS2SR IEXNH(AEEX/ES - HELNHA)
S OISER JIIEXJ (chel: & 2l)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
= 817,586
p) 186,514
[ 9,611,432
Al 8,602, 110
= 11,802
O=ZISIEAl =4 77,650 77,650 0
201 LBt 75,810 75,810 0
01 AF222IHI 4,760 4,760
OOFSZIBI T Al FRARE| 3|0 BHarg
70,0002 %1213 840
OOtSZISIEAl 24 2822 HIE
5002%4,0005*13] 2,000
OOtSHEINE ZAIR L ol 920
—Jlz2s 250,000 1Al2b23] 500
—Zl= 120,000+ 1Al2H23] 240
— 04t 90,000 * 1223 180
OSLINI OISRIBIT Al Bi2ts| E88A 29
1,000,000 % 14! 1,000
02 2229 5,050 5,050 0
OOFSZISIEAl F& NSUELH3| 3/H|
5,000,000 % 14! 5,000
O2428=0/6 0{2/01=0/AI4 AR 25 It
50,0002 %14l 50
03 BALS | 66,000 66,000 0
OOtS&UARE 29
5,000,0002 % 14! 5,000
ootsdel 1s 10,000,000 * 14! 10,000
OR53| HZ=Al OISHAE HAUEOLY 3] 16,000
—HUEOY 3 2
13,000,000 % 14! 13,000
—H3l &I Y35
3,000,0002* 14! 3,000
O0IE=0IH =0/Z20d 29
14,000,0002 % 14! 14,000
O=0] 85t 2AN
21,000,0002 % 14! 21,000
301 LEEAS 1,840 1,840
11 BAFAHIXI2IZ2 1,840 1,840 0
OOtse| 2UIHYH = AlY| X1
20,0002 * 10223 400
OKUNT OISZEISICAl 22ts] BIHR Al 24
90,0002+ * 1 180
OOLSZISICAl TAES QITH 2123 24X 34 S
7,00021+60*33 1,260
=0{E0IS=0IAE 29 102,526 353,250 N250,724
101 Q124H 17,086 26,020 A\8,934




2A: OFSHAED
H: OlSES IEXL(AB2X/ES - HELNA)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
04 JIIR2 2N SES 17,086 26,020 A\8,934
OSEnAL QI2HI(RA) 12,468
-J|=2 9,620 %4 Al 2H 1 %260 10,005
—F5LG 9,620 4 A 2bx 1 x50 2,001
—Ei=+g 9,620 %4 A 2bx 1 %122 462
OE)| E222 =0IH Hi=24 22| oY
9,620 *BAI2H2% x50 4,618
201 L2 S 28,140 20,720 7.420
01 AF22t2IHI 10,180 9,640 540
OF=I| gxts 30,0002+ A% 122 720
OAIR8E 74 150,000 %2 Ax 122 3,600
O=23=cltl 50,0002 *4CH*2IH A 400
OFoIZHl 29 180, 00024 * 14 Ax 122 2,160
OZ)| E22} S0IH Hi"ES 22285 7Y
600,0002 % 14! 600
OE)| E222 =0/ Hie=24 9 AX2
700,000 %14l 700
O=0lH EX® HE S
2,000,000 % 14! 2,000
02 2229H| 14,960 8,080 6,880
03322 MA(alLeH=0IE S)
4,920,0002* 14! 4,920
O=0lE |XIE4H|
1,000,000 %27H A 2,000
OZ)| 2222 =0/ g2 22 2,040
— AT AlRE
120,00024% 1§ A% 122 1,440
AN 222
300,0002 % 14 A#23] 600
OE)| E222} =0/ HI"E4 M HA
6,000,000 x 14! 6,000
03 BAL2H 3,000 3,000 0
OXMEsts T2 2 (2A2222Hs0IH)
3,000,000 %14 A*13] 3,000
206 XHEH] 4,100 4,100
01 X2l 4,100 4,100 0
O=0122 7 & T2 HaH|(Ra=er2et
=0/E) 4,100,000 % 14! 4,100
301 YEEXS 3,200 2,410 790
11 #AFAHIXI S 800 810 A10
OMEsts T2 02 X AAF 2 2HA! HIZ
8,000 x50 x4 800
14 JIEI2 A3 2,400 1,600 800
OZZ 2 A
80,0002 %2 Al 2H153] %104 A 2,400
ENEEEET 50,000 300,000 A250,000




2A: OFSHAED
MM OS2SR IEXNH(AEEX/ES - HELNHA)
g?el: Ol sE2Es B (Crel: &)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
01 Al&H] 50,000 300,000 A250,000
CAE O2I0I=0lE &4 ZAHCCTV, ®IIZAH
50,000,0002* 14! 50,000
EEINVEINE 1,450,090 1,034,390 415,700
201 L2 A 42 440 3,040 39,400
01 AFR2t2IHI 25,040 3,040 22,000
OESAAARE S a4y
70,0002 10243 2,800
OESAAARS S S HE
60,0002 *4H 240
OZAUZI0I1Z AI0IZAIA ARtE XIS
2,500,000 +6& 15,000
OZ0{2I01Z 0IX0ll [+ OlAlHI
7,000,0002 % 14! 7,000
03 BAL2 | 17,400 0 17,400
OE=nzY 2dy 2
8,700,0002 %23 17,400
301 LB 253,850 207,150 46,700
03 AL 2 E 2GS (XILTHS) 247,200 0 247,200
OBI2t - JIEORI0IE 2SS DA HRIMAH
80,0002 %1502+ 122 144,000
OBI2t - JIERI0IE HALR HRIHEH
30,0002*20H 122 7,200
ORI2t - JIENRI0IE H2H| X
500, 0002 %2401 Ax13] 12,000
OESNEY HEAE
100,000 %42024 23| 84,000
11 BALAHIXIS 6,650 4,050 2,600
O2suXA day 29
1,300,000 23] 2,600
ONZI0IE AL E41S o]
90,000 *452 13 4,050
307 2I2H0| & 1,049,800 812,200 237,600
04 QIZFSHAIAIZI B X 6,400 0 6,400
ORSAE SHAHIXIRA(ARE], 1K, SI22USE S)
(BXE 80%)
4,000,000 %23|x80/100 6,400
10 ALBIS XA LA SAHIE X 1,043,400 812,200 231,200
OORIIABS 01l BX(BEE NoH)
750,000 +3H*12¢ 27,000
OO{RI0IE BAK Q124H| XIR(EXS FHH)
500,000 *44 0 A 12 264,000
OO{RI0IE SAH| XR(RLAM2 ZEH(EX8
ToK) 2,2002%1,8002* 1902 752,400
ENEEEENT 12,000 12,000
01 Al&H] 12,000 12,000




2M: OlSHAED
HH: OISES IEXY(ABEX/ES - HEL0A)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
O==g00ld sz
2,000,00024+67H A 12,000
405 KOS 92,000 0 92,000
01 A USEF S| 92,000 0 92,000
O2ZOIRI0IY Satxier 2U(Hal2, A)
46,000,000 *2CH 92,000
ESENE! 80,233 57,967 22,266
201 JEF2 9] 22,400 1,230 21,170
01 A2 2,050 1,230 820
OOl SRSIRIG| Baag
70,0002 %5 *53] 1,750
OOISBSIE| 50 H4tH R
60,0002 +5% 300
03 A2 20,350 0 20,350
OXIZ0ISHIE OIS SIEtetiie Al 29
6,050,0002/*13] 6,050
OOISEHTHOIS] & BAF L OISEHTHY S&
24|01 14,300,0002%14! 14,300
301 JEFE A= 7.833 6,737 1,09
02 NBIBRETH2(FSHE, NLH) 3,528 0 3,528
OJIESIE0IE =D 0M DEY|
2,000 x7H 252 3,528
11 SAFAHI X212 4,130 2,180 1,950
OO0IRI0IZ JIESHAF EHAOH|
90,0002 x2%*13] 180
OXIZ0ISHIE OIS SIetetiret SAFAIHI XIS
3,950,0002/%13] 3,950
14 JIEI2 A2 175 525 A0
ORES0IE LAIRE Ha2
35,0002 % 15 175
307 0I2F0I ™ 40,000 40,000
02 SIRIZAAIIE T 10,000 10,000
OXI0ISHE ZMDA Z208 2%
10,000, 0002 *14! 10,000
04 DIZFHAIAIRIE R 30,000 30,000 0
OOISHZ 08 RXZ 20 (2XS 80%)
6.250,00024%25|%80/100 10,000
OOIRIOIZ JISBAF NI (EXS 80%)
25,000,000 *131%80/100 20,000
TAEEEEEE] 10,000 10,000 0
01 Al 10,000 10,000
OOISEXIAIA B2
5,000, 00021+20H A 10,000
HEI B SN AAE A (CREAA) 13,566 13,300 266
308 XX SHHIS0IA 13,566 13,300 266
07 NXISHIRZFIRE 2 13,566 13,300 266




SM: OIEHAED
HI: OISES IENI(ME=X/2S - IEL0A)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
SEEPEFEEREREECRE
13,566, 0002 *14! 13,566
NENEREEEESIREAE 12,600 13,800 1,200
301 B2 A= 12,600 13,800 1,200
NEEEEES EENE)) 12,600 0 12,600
OXIZOISHIE! SAX HRMEH
50,0002 %21 * 122 12,600
CENESEMEH AN 25,920 0 25,920
301 2 A= 25,920 25,920
02 ANBIZRELH2(FSHE, NLR) 25,920 0 25,920
OLISTHSZHIE 2+AIXI
30,0002 *72% 12 25,920
(EPEIEENH 376,544 1,088,075 A711,531
= 282,408
= 65,895
Al 28,241
301 JEFE A= 376,544 1,088,075 AT11,531
2 282,408
= 65,895
Al 28,241
01 ABIZRELGI2(2NEX ML) 376,544 1,088,075 AT11,531
ONE=sE XA 376,544,000 14! 376,544
=2 282,408
[ 65,895
Al 28,241
(2)2220(or+g) K 3,034,232 0 3,234,232
2 2,425,674
= 565,991
Al 242 567
301 YErE A2 3,234,232 0 3,234,232
= 2,425,674
= 565,991
Al 242 567
LS EENEEE) 3,034,232 0 3,234,232
OR220(Yorg) K2
3,234,232, 00021 * 14! 3,234,232
2 2,425,674
= 565,991
Al 242 567
(2)ER012=2 N2 (0~2A) 5,840,116 6,310,713 470,597
2 4,380,087
= 1,022,020
Al 438,009
301 YErE A= 5,840,116 6,310,713 470,597




M OlsEAE
M OJE2S IIEKA(AS=N/2S - IEL0A)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
= 4,380,087
& 1,022,020
Al 438,009
01 AIBIEBEE2HS(2LEEMNSA) 5,840,116 6,310,713 AA70,597
OgR0t B2 K&
5,840, 116,000 14! 5,840,116
= 4,380,087
& 1,022,020
Al 438,009
(D)AZHHESKIA 324,008 281,160 42,848
= 162,004
L= 48,601
Al 113,403
307 gIz+o|d 324,008 281,160 42,848
= 162,004
= 48,601
Al 113,403
10 ALSIZXAIEEHE2ZHIEE 324,008 281,160 42,848
OAIZHES WS H2olE X
324,008,000&*14! 324,008
= 162,004
L= 48,601
Al 113,403
(2)ESWAR 21AH| X 4,463,258 3,880,943 582,315
= 2,677,955
& 1,249,713
Al 535,590
307 2I12tol & 4,463,258 3,880,943 582,315
= 2,677,955
& 1,249,713
Al 535,590
10 ALSIZXNAIEEHE2ZHIEE 4,463,258 3,880,943 582,315
OEswARA oIzt K&
4,340,970,000 2 * 1A 4,340,970
= 2,604,582
< 1,215,472
Al 520,916
OAIZFASESE WAL 21248 XI&
122,288,000 *14! 122,283
= 73,373
& 34,241
Al 14,674
(2VESVAAHRIME X2 718,095 1,492,029 AT73,934
= 430,857




£M: OlSEAED
HH: OISES IISKH(AEIEN/ES - IEL0IY)
Hell OtSE= IS (EERSED)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
= 201,066
Al 86, 172
301 LEFENZ 718,095 550,477 167,618
2 430,857
= 201,066
Al 86,172
01 NEIZRELH2(INEZ) 718,095 550,477 167,618
ORARZ 2SN XI
621,437,00024% 14! 621,437
2 372,862
= 174,002
Al 74,573
OsSE2|NA SE224+Y X
96,658,000 14! 96,658
2 57,995
< 27,064
Al 11,509
(2)0/20/E EZAl K& 1,103,365 0 1,103,365
2 662,019
= 308,942
Al 132,404
307 EI2FOIH 1,103,365 0 1,103,365
2 662,019
= 308,942
Al 132,404
DREENNEEEE=EIEES 1,103,365 0 1,103,365
BEUA NY(HEES MDA X8
1,053,257, 00024 14! 1,053,257
2 631,954
== 294,912
Al 126,391
OUM AL X1 50,108,000 x 1 Al 50,108
2 30,065
= 14,030
Al 6.013
(2)0l2l0/E 23X 53,654 49,326 4,328
2 32,192
= 15,023
Al 6,439
307 EI2FOIH 53,654 49,326 4,328
2 32,192
= 15,023
Al 6.439
NREENNEEEE=CIEES 53,654 49,326 4,328




2A: OtsEAEN
Mo OIS2ES SN (ABSN/ES - IIEL0IA)
S OISER JIIEXJ (chel: & 2l)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
Ouu-dl X 15,040,000 *1 Al 15,040
= 9,024
[ 4,211
Al 1,805
Oxte=23d] K& 34,127,000 x 14! 34,127
= 20,476
< 9,556
Al 4,095
OsHELHE IOl E XA
4,487 00024+ 14! 4,487
= 2,692
[ 1,256
Al 539
(2)222LIEHEH 29 2,200 2,880 2680
= 1,100
[ 330
Al 770
301 L2 S 2,200 2,880 AB80
= 1,100
[ 330
Al 770
11 BAFAHIXI2IZ2 2,200 2,880 680
OR22LHAH 29
2,200,0002 % 14! 2,200
= 1,100
[ 330
Al 770
(2)FUESE A 521,368 0 521,368
p) 144,004
[ 12,325
Al 364,949
307 2I2+0| & 521,368 0 521,368
p) 144,004
[ 12,325
Al 364,949
10 AFBISXAEHE2HH|IE X 521,368 0 521,368
Ooro|H=E=20| XA
521,368,0002 % 14! 521,368
p) 144,004
[ 12,325
Al 364,949
(R)otolS=XA 2,184,825 1,410,374 774,451
= 1,529,378
< 196,634




FAM: OlsEAE D
M OJE2S IIEKA(AS=N/2S - IEL0A)
Hell OtSE= IS (EERSED)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
Al 458,813
307 2I1Zt0] & 2,184,825 1,410,374 774,451
= 1,629,378
& 196,634
Al 458,813
05 QIZtRIEZ 2,184,825 1,410,374 774,451
OoololssXd(Es+Y)
1,736,000,000& 14! 1,736,000
= 1,215,200
& 156,240
Al 364,560
OotoIS=SXIE (MblA22)
448,825,000 * 14! 448,825
= 314,178
& 40,3%
Al 94,253
(XS 0LSHE 29| XA 188,906 800,520 A611,614
s 94,453
& 28,335
Al 66,118
307 g1z+ol|d 188,906 800,520 2611,614
s 94,453
& 28,335
Al 66,118
10 AlSISXAIEEE2ZHIE X 188,906 800,520 A611,614
OXIS0otsSHIH D229l K&
176,444, 0003 * 14! 176,444
s 88,222
& 26,466
Al 61,756
OXH0tsHE =It2gd] X
12,462,000 14! 12,462
s 6,231
= 1,869
Al 4,362
(D)X 0tSHE o124d] K& 737,372 0 737,372
as 368,686
& 110,606
Al 258,080
307 21Z+01 & 737,372 0 737,372
s 368,686
& 110,606
Al 258,080
10 MBI SXALHE2IHIEX 737,372 0 737,372




M OlsEAE
M OJE2S IIEKA(AS=N/2S - IEL0A)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
ONSOI=[E oAl
737,372,0002 14! 737,372
s 368,686
& 110,606
Al 258,080
(=2)E48E XY0IsHE FIHKIA 22,320 23,976 A1,656
s 11,160
= 3,348
Al 7,812
307 2I12t01 & 22,320 23,976 21,656
s 11,160
< 3,348
Al 7,812
10 A2 XAIEEHE2IHIE X 22,320 23,976 A1,656
OE==HE NG0tsdH FIOHKIA
22,320,000@1% 14! 22,320
s 11,160
& 3,348
Al 7,812
(XIS 0LSHE 2l XA 40,000 0 40,000
s 20,000
& 6,000
Al 14,000
402 2IRHX=01N 40,000 0 40,000
s 20,000
& 6,000
Al 14,000
02 QIZFXHE2 AT E X (OIFTHA) 40,000 0 40,000
OXIotSHIE SZINAdl X (-el)
30,000,000 *14! 30,000
s 15,000
& 4,500
Al 10,500
OXIZotsSHIE SZINAHl IR (oHe))
10,000, 000 * 14! 10,000
s 5,000
& 1,500
Al 3,500
(2)0ISESH2I & 29 XA 202,042 194,932 7,110
= 86,878
& 26,265
Al 88,899
307 2IZtol & 202,042 194,932 7,110
= 86,878




MET
Ofl &nb2H

in

26,265
88,899

OXdotsEsd

A&
202,042,000 14!

Mo

=

202,042

202,042
86,878
26,265
88,899

194,932

7,110

hnoH

=

168,742
118,119
15,187
35,436

195,327

N26,585

hnoH

=

168,742
118,119
15,187
35,436

195,327

N26,585

168,742,000 14

ho

168,742

168,742
118,119
15,187
35,436

195,327

N26,585

60,600
42,420

5,454
12,726

39,400

21,200

H

Al

60,600
42,420

5,454
12,726

39,400

21,200

200,000 23128

2,700,000&*1&

700,000&*1H

H

Al

H

Al

H

60,600

55,200
38,640
4,968
11,592
2,700
1,890
243
567

700
490
63

39,400

21,200




FAM: OlsEAE D
M OJE2S IIEKA(AS=N/2S - IEL0A)
Hell OtSE= IS (EERSED)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
Al 147
OYL=EsI2 2,000,000 %1 2,000
| 1,400
& 180
Al 420
(=)0l 4,357,720 4,630,249 A272,529
= 3,486,176
& 261,463
Al 610,081
301 Let8E= 4,357,720 4,630,249 A272,529
= 3,486,176
& 261,463
Al 610,081
01 AIBIEEEES(SLEEMNSA) 4,357,720 4,630,249 A272,529
Oots=4 sWXl=
4,357,720,000 2 * 14 4,357,720
= 3,486,176
& 261,463
Al 610,081
(D) BSOS LRI 38,400 57,600 219,200
= 30,720
L= 2,304
Al 5,376
301 LetE8E= 38,400 57,600 19,200
= 30,720
= 2,304
Al 5,376
01 ABIEEE 62 (2 NEXTHE) 38,400 57,600 219,200
OESER0IENe+EX
400, 0002 <8+ 128 38,400
= 30,720
& 2,304
Al 5,376
(=2)=1010ts JIEES A 4,500 10,000 25,500
= 3,150
& 1,350
301 LetEE= 4,500 10,000 25,500
= 3,150
& 1,350
01 ABI2EE 63 (S NEXTH) 4,500 10,000 A5,500
OF=20IEE S| X
4,500,000 *14! 4,500
= 3,150
& 1,350




SA OISHEAEY
M OISES IEXNL(AESX/ES - HEL0A)
Hell OtSE= IS (EERSED)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
(2)ors2E72H| X 1,000 0 1,000
= 700
[ 300

301 LEHEES 1,000 0 1,000
= 700
[ 300

01 AFBIEEESHS(ZDEEME) 1,000 0 1,000
O0l=83+et| 1,000,000 14! 1,000
= 700
[ 300

()EHSES2GHIX 40,000 9,600 30,400
= 20,000
[ 6,000
Al 14,000

201 LB 40,000 9,600 30,400
= 20,000
[ 6,000
Al 14,000

01 AlR2r2IH] 40,000 9,600 30,400

Ot HEEH 294X

40,000, 0002 % 14! 40,000
= 20,000
[ 6,000
Al 14,000

()CENSSIAHXIZ 238,280 143,392 9,883
= 119,140
[ 35,742
Al 83,398

101 o1A4H| 238,280 143,392 9,883
= 119, 140
[ 35,742
Al 83,398

04 JRHHZZ2XEES 238,280 143,392 9,883

OLIBHSEH 01X

238,280,000 * 14! 238,280
= 119,140
[ 35,742
Al 83,398

()CHENSSLEXHIXIZ 70,000 140,000 A70,000
= 45,000
[ 7,500
Al 17,500

401 AlZHIZ 20| 50,000 100,000 50,000




Oll &b2R

MET
Ofl &nb2H

n o

=

25,000
7,500
17,500

01 Al&H|

Olt==sH

X8l XA

50,000, 000241 A!

Mo

50,000

50,000
25,000

7,500
17,500

100,000

/50,000

&)

20,000
20,000

40,000

220,000

20,000,000& 14!

)

20,000

20,000
20,000

40,000

/20,000

AR

=

4

16,802
4,000
300
700
11,802

15,760

1,042

nor

>

m

14,110
2,000
150
350
11,610

11,260

2,850

01 AFR22t2IH|
OJ|Et2Z|

2,500,0002%14!

70,0002 *5EH 53]

70,000&*5Z*102

100,000&12E

1,000,000& 22

SHEsSH 2 &Y 2HAHA 23

180,000&12E

n

m

I

4

I

10,950
2,500
2,000

150
350

1,750
1,750

3,500
3,500
3,200
1,200
1,200
2,000
2,000
3,160

2,160

8,100

3,160

2,850




SHAHED
ST IIEXF(MIEX/ES - IELNHA)
=SB IIENS (chel: & 2l)
S - B O pas ] HIDE2
= 2,160
O8It 899 1,000,000 14! 1,000
= 1,000
307 2I2H0| M 2,692 4,500 21,808
= 2,000
= 150
Al 350
= 192
01 922 =H| 2,692 4,500 21,808
Oz ¢ & 2,500,000 %1 Al 2,500
= 2,000
= 150
350
OBs0lE 2 8,00021%22* 128 192
= 192
(Z)XHEEAEIE S 168,934 132,9%4 35,940
as 135, 147
& 10,136
Al 23,651
201 Br23Y| 62,200 23,400 38,800
= 49,760
& 3,732
Al 8,708
01 AtR2teld] 34,000 11,200 22,800
OSBAEIE 29 1,500,000 * 12 18,000
= 14,400
& 1,080
Al 2,520
o292ds |Hl EA=Y
100,000&*10E*53] 5,000
iy 4,000
& 300
Al 700
OEHAEIE
500, 000&*203] 10,000
Fay 8,000
= 600
Al 1,400
OSYAEE ar2e|
500,000&*23] 1,000
fay 800
& 60
140
02 S=2Z| 7,200 7,200 0




A
K| XH -
(e

=aak

Oll &b2R

MET
Ofl &nb2H

OEEAERE 332Y

03 A2 &
A

EIE Z2StHIE=AL

600, 000& * 122

3,000,000& 7]

Mo~

=

SRRE]]

=

7,200
5,760
432
1,008
21,000

21,000
16,800
1,260
2,940

5,000

16,000

202 Odd|

oM

=

5,400
4,320
324
756

5,940

01 SLHAOYI

OO0tSSEAtAIZCIAHSRA

)

2L 04|
150,000& x3H*123]

M~

=

5,400

5,400
4,320
324
756

5,940

ERRREY

=

75,500
60,400

4,530
10,570

52,412

23,088

11 HARHIXE =S

OZzd H0 ots

14 J|Et2a=

OESHAERE Z20H

JESA

OEEAERE NESAH 24

50,0002 *70E*123]

JFAl Gl SMI:II

T =<

500,000&*102

500,000&*52]

,000,000& x2H*123]

SRR

=

o

=

SRRE]]

42,000

42,000
33,600
2,520
5,880
7,500

5,000
4,000
300
700

2,500
2,000
150

350
26,000

24,000

30,000

2,812

19,600

12,000

4,688

6,400




SA OISHEAEY
M OISES IEXNL(AESX/ES - HEL0A)
Hell OtSE= IS (EERSED)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
= 19,200
[ 1,440
Al 3,360
OCSEAEE IIAZSAR 25
50,0002%102*43] 2,000
= 1,600
[ 120
Al 280
307 2I2I01A 25,834 15,080 10,754
= 20,667
[ 1,550
Al 3,617
01 2L 12H| 24,400 14,000 10,400
OZZAEIE o/2H X
500,000 %202 10,000
= 8,000
[ 600
Al 1,400
OSZAEIE AZIXI22AF 2 XI2H| X
300,000 *4% 123 14,400
= 11,520
[ 864
Al 2,016
12 Q1201 Et =Y 1,434 1,080 354
OOtSESHAIMIZ2IAL QIZIRIEt S|
1,434,0002 %14l 1,434
= 1,147
[ 86
Al 201
BEEEIETS! 120,000 0 120,000
[ 24,000
Al 9,000
307 2I2H01A 120,000 0 120,000
[= 24,000
Al 9,000
REENNEEEEEEES 120,000 0 120,000
OFHUTA2 2 120,000,000 %1 Al 120,000
[ 24,000
Al 9,000
BEEEEERE 4,485,367 4,230,256 255,111
[ 3,705,771
Al 779,5%
301 LBIEA3 3,937,984 3,753,884 184,100
[ 3,569,832




2A: OtsEAED
B OIS2S IISKA(ABIST/2S - IHEL0IL)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
Al 368, 152
01 AIIBEEFS(2NEEMNS) 3,937,984 3,753,834 184,100
Ol td 3,477,744, 0002« 14! 3,477,744
& 3,477,744
OL3-5A gt ==L
459,840,000 *14] 459,840
& 91,968
Al 367,872
OE=0ts H0AI(ZEY]
400,000 *14! 400
& 120
Al 280
307 2I2t0l ™ 547,383 476,372 71,011
= 135,939
Al 411,444
10 MR SXALHE2IHIEX 239,615 259,372 A19,757
OXFOHOtSHEIOIE oz
100,000 *3H 300
& 0
Al 210
OBF0ts 2tald] 198,000,000 % 1Al 198,000
= 59,400
Al 138,600
ONelold X=Xl
6,400,000& 14! 6,400
& 1,920
Al 4,480
OCHZStEI0ld &2 Zd|
16,000, 0002 14! 16,000
& 4,800
Al 11,200
ONelold &ZIHAdl
13,500,000 14! 13,500
& 4,050
Al 9,450
ONelold et B HIZIH|
5,415,000& 14! 5,415
== 1,625
Al 3,790
11 ASI=XAIEEXR 307,768 217,000 90,768
OE=0ts el8dw=H| K&
25,000,000&*14] 25,000
= 7,500
Al 17,500




2A: OtsEAED
BE: 0l52S JISNR(ASI=R/2S - IIEU0HA)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
Oeloldgote 24| XA
282,768,000 *14] 282,768
& 56,554
Al 226,214
(D) EsNAARAAST 432,000 444,000 A12,000
& 129,600
Al 302,400
301 LRENSZ 432,000 444,000 12,000
& 129,600
Al 302,400
01 AISIBEE46I2(2DEXTHSA) 432,000 444,000 212,000
OEsWAA £ 432,000,000 *1A! 432,000
& 129,600
Al 302,400
(Z)SSEOE0IE XS (XEAIY) 413,000 392,940 20,060
& 364,000
Al 49,000
307 2I2t0| ™ 413,000 392,940 20,060
& 364,000
Al 49,000
10 AL S XAIESHE2IHIE X 413,000 392,940 20,060
O32g0elold XA
413,000, 000&*14] 413,000
& 364,000
Al 49,000
(Z)sSHESHANLAESWNEIAXE 118,690 0 118,690
= 35,610
Al 83,080
301 Let8d3 118,690 0 118,690
& 35,610
Al 83,080
01 AIRIBEEF2(2NEEMNSA) 118,690 0 118,690
O=0lESH AN H K] DT
118,690,000 * 14 118,690
= 35,610
Al 83,080
(Z)0{2I01y 2eAEH| X 58,900 0 58,900
& 17,670
Al 41,230
307 2I2H0| M 58,900 0 58,900
= 17,670
Al 41,230
10 AISISXAIEEE2IHIE X 58,900 0 58,900




FAM: OlsEAE D
B OlS2R JIEXA(ABIST/2S - IEA0IL)
el OtsE=R JIEFKIR CEEEED
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
O0glo1sy 2e&4l X
58,900,000 14! 58,900
& 17,670
Al 41,230
(Z)0I0I=SR2R433 700,000 640,000 60,000
& 280,000
Al 420,000
307 2120l ™ 700,000 640,000 60,000
& 280,000
Al 420,000
11 A= XAEE S 700,000 640,000 60,000
OO0 =SREREZE L
700,000,000& 14! 700,000
& 280,000
Al 420,000
(Z)ZOIBLHSHELO0ISE0IXIA 12,000 7,000 5,000
& 3,600
Al 8,400
307 2I1Zt01 & 12,000 7,000 5,000
& 3,600
Al 8,400
11 AR S XA E S 12,000 7,000 5,000
OZoBsLMSEE0t0I=S20l XA
12,000,000& 14! 12,000
& 3,600
Al 8,400
(E)XH0tSHH2S R 22,400 79,200 56,800
L= 6,720
Al 15,680
307 212t0] & 22,400 79,200 A56,800
& 6,720
Al 15,680
11 A= XA E X 22,400 79,200 A56,800
OXIS0tSHIE ety K&
6,600,000 * 14 6,600
L= 1,980
Al 4,620
OXIS0tsHIEH Z=elAt 2124 XA
7,800,000 14 7,800
= 2,340
Al 5,460
OXS0tsHE Sst=2 8 X
8,000,000 *14 8,000
& 2,400




M OlsEAE
BH: 01S2S ISR (ASI=X/2S - HEU0I4)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
| Al 5,600
(Z) NS OtSHE S AR 168,332 47,840 120,492
& 50,500
Al 117,832
301 LEtBE= 89,179 47,840 41,339
& 26,754
Al 62,425
02 MBIEEEG6Z(FHSAHS, NLTHA) 89,179 0 89,179
OXGotsHye BE Xz
34,219,000 14 34,219
& 10,266
Al 23,953
OXGotsHH JEE K=
19,680,000& 14! 19,680
< 5,904
Al 13,776
OXIG0tsHE BANE XI5
35,280,000 * 14l 35,280
& 10,584
Al 24,696
307 2IZtol & 79,153 0 79,153
& 23,746
Al 55,407
10 M2ASXNAEHESSHIEX 79,153 0 79,153
OXIZ0tsHIE 2l24d| FIHKIA
79,153,000@1% 14] 79,153
& 23,746
Al 55,407
(2ANEoSHEES 40,950 47,983 A7,033
& 12,285
Al 28,665
307 21Zt01 & 40,950 47,983 A7,033
& 12,285
Al 28,665
10 AlRISXAIEEE2ZEIE X 40,950 41,383 A433
OZAESAIE 23Hl K&
40,950,000+ 14! 40,950
< 12,285
Al 28,665
(D) XNEIsESESI|A2I XA 23,611 20,962 2,649
& 7,083
Al 16,528
307 gIztol|d 23,611 20,962 2,649
L= 7,083




A OFSHEAED
H: OlSES IEXL(AB2X/ES - HELNA)
@2l OIsEs SN (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
Al 16,528
10 ABBIETAEEE2HH 2 X 23,611 20,962 2,649
OXYotsESH2) | 222X
23,611,000 14| 23,611
[ 7,083
Al 16,528
CBEENEVEEREY 72,240 65,560 6,680
[ 12,312
Al 59,928
301 LEHEES 72,240 65,560 6,680
[ 12,312
Al 59,928
01 ABIEEELHS(SDEXHE) 72,240 65,560 6,680
OERIg 2= XA 46,800,000 %14l 46,800
[ 4,680
Al 42,120
OFAHSO0ts XA 5,440,000 %1 Al 5,440
[ 1,632
Al 3,808
OJIHSIE8SZE20IE N2 X
10,000,000 2% 20,000
[ 6,000
Al 14,000
BENEEINE] 1,766,000 1,596,700 169,300
[ 705,800
Al 1,060,200
301 LBtEAS 1,766,000 1,596,700 169,300
[ 705,800
Al 1,060,200
01 ABIEEELFHS(DEZHL) 1,766,000 1,596,700 169,300
Osh|E EZEY FA!
532,000,0002 %14l 532,000
[ 532,000
OYsts =4l 504,000,0002 %14l 504,000
[ 100,800
Al 403,200
OXHOIEHE S SAXS
730,000,0002 %14l 730,000
[ 73,000
Al 657,000
BOIEEEEEENE 165,503 171,600 6,097
[ 49,651
Al 115,852
101 I2AH] 101,423 107,520 6,097




2AM: OtsaEAE
M OJE2S IIEKA(AS=N/2S - IEL0A)
Hell OtSE= IS (EERSED)
SN - B SR - NBAR - BYS ofl Ao ] HIS2
= 30,427
Al 70,996
04 JI2HHZ2Z2XANEE> 101,423 107,520 26,097
Olte=s2H 2CIUI0IE 2124d|
101,423,000 x 1Al 101,423
== 30,427
Al 70,99
201 Let29H| 42,640 42,640 0
= 12,792
Al 29,848
02 3324l 26,640 26,640 0
OltS2=8H 2229|
6,660,000 *4IH A 26,640
= 7,992
Al 18,648
03 A2 GH| 16,000 16,000 0
OnlsS=E 2 Z2I2|
4,000,000& x40 A 16,000
& 4,800
Al 11,200
301 LetBNZ 21,440 21,440 0
== 6,432
Al 15,008
01 AR EEESHZ2(Z2RNEETHS) 13,440 13,440 0
OltZ2==H SAMA =Y
140,000 *4H* 122 *2H A~ 13,440
= 4,032
Al 9,408
11 HARHIXIRZ2 8,000 8,000 0
OlIS=8H =8 Z2 13 HFU A AAF Y 2 JIS
2,000,000& x4 4 A 8,000
= 2,400
Al 5,600
HAaE 24 2 B (AlEEX/ 0l - 3AH) 1,764,456 1,551,284 213,172
= 52,266
Il 386,325
= 111,283
Al 1,145,582
= 69,000
HaE B4 1,764,456 1,551,284 213,172
= 52,266
Dl 386,325
== 111,283
Al 1,145,582




2A: OFSHAED
MM HAE M U BS(AGSX/L0 - HAH)
oel Bad =4 (Crel:mel)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
= 69,000
HAE SEAE 29 484,247 342,421 141,826
101 Q124H] 88,541 71,781 16,760
M IIIR22ISES 88,541 71,781 16,760
OO A0S £HE OHNMQR 0182
150, 0002 «22 +40 L * 13| 12,000
OXAHE23510/F 12 28X 018 25,514
—Jez 9,620 #8A| 2+ 1242602 20,010
—5422xE 115,440 %124 %5 578
—F5rd 76,9602 * 12 #522 4,002
— XA 76,9602 %1% x 122 924
OFAE23510|F 22 22| JI2HA o8 51,027
—J=2 9,620 R*BAI2H2H %260 40,020
—§24224H 115, 4402%0 % %52 1,155
—FFre 76,9602 2% *52 8,004
—xg 76,9602 x22x 122 1,848
201 LB 106,336 93,640 12,696
01 AF22t2IHI 35,106 25,410 9,696
OOMXIHAHOFE R 22 3,410
—2eE3 7L 60,0002 +2E* 122 1,440
—NE A BEES 70,0002+7& 490
—SE&H| JIRAAS A0S 242
40,0002+ 122 480
-2z 1,000,00021*14! 1,000
OO AH0FEE 222 TI=Y]
100,000 % 1212 100
OXAER3519/Z 22| 26,696
-2 2E 2 50,0002 «105+12L 6,000
—E22(212%) Mz
5002%3,0000H+23] 3,000
-2t E P 30,000 *55+ 122 1,800
—218F 22| 200,0002*10CH 2,000
—3ollehgt A= 200I1E
25,0002 %3CH*123] 900
— B2 Al VODMHIA Ol82
113,000 % 122 1,356
—E|QIEYIAl 2HEE T 2 A 0=
60,000 *10CH 600
—&J|orE 2|l
160,000 *2JH Ax12& 3,840
—H4I| X 22/
50,000 *40H A 122 2,400
—ZHO0IXl RXIE4H|
150,000 % 122 1,800
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2A: OFSHAED
M HAH S L D5 (AEI=R/L0 - HAH)
ool HAE |4 (Ctel: ®M2)
H) - HIAK - BAS gl:f{of“
10,0002 %501 500
& D20 29 M2
600,000 %12 7,200
20,800 20,800
20,800 20,800
& D20 2% LAY
80,0002 *2A| 21303 20,800
0I2H0| A 74,400 48,000
QIZtIES 74,400 48,000
FAES 29 N 74,400
—ANE2Y I, REH)
4,000,000 %128 48,000
—olA| 2,200,000+ 12128 26,400
Al&HY 170,000 55,000
01 Al&H] 170,000 55,000
OBAUESEAL B S
10,000, 0002 *2A! 20,000
OFAdsp2 J|s2Y
50,000, 0002 *34! 150,000
T 14,970 44,000
01 XL SEF SH 14,970 44,000
OHAER35I9/Z 22| ¢
220,0002 *64! 1,320
OO AHOFEE DLAED| 2
1,650,0002 % 14! 1,650
2 MHIOIZ Al 2
300, 0002 *40set 12,000
97,340 117,540
29 7,540 7,540
=R 7,540 7,540
HArEES g2 M 1,360
—&0 60,0002 +6& 360
—-25=2 5002%1,00001 %2 % 1,000
OFAER N =222
50024 1,0000H 500
OStZAYI|AEO|S| 3]0 BAQR 2E
70,0002 17223 2,380
OFAEZ 2 Xz
5,5002*600 3,300
301 Y2 A 26,800 27,000
06 X2 BAE] 25,800 25,800
OHAA 2 E IeE=El 29
2,100,000 * 10IHCH 21,000
OFAER hed et 29 12 S
200, 0002 *2JH S|+ 122 4,800
PN 1,000 1,200




£ OtSEAED
HH: HAE |4 Y 2S(ABEX/ L0 - HAH)
Cel: Had |4 (ESESED)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
OFrERed A0 243
1,000,00024* 14! 1,000
307 @I2+01™ 63,000 55,000 8,000
02 PRI AN S T 35,000 35,000 0
Ostn=ZA2MS 25t SLOREM A2 2
10,000,000&*14] 10,000
OZNHSEH FAEX T2 (S
olgZziy) X
15,000,000 %14} 15,000
OFAH EQI272 X (2XE 80%)
12,500,000 *141%80/100 10,000
04 RIZFHAIAII S 8,000 0 8,000
OYFAl HAE JIQNH(EXS 80%)
10,000,0008!*141%80/100 8,000
11 MBS RIAY B 20,000 20,000 0
OFAHAE=TME AeldA Z208 29
3,000,00024* 14! 3,000
OFAHAESIME HEAZ(HDS) D20
= 4,000,0002* 14} 4,000
OFAHASSTHE AlDII2s20E 2
5,000,000 % 14! 5,000
Os2lHLHMSS0I2| HEUT 25
,000,0002!* 14! 5,000
OFAHASSIME SEIRSAE 29
3,000,00024* 14! 3,000
HAEZRCHEZZ MR A 14,000 4,000 10,000
307 @I2H0I™ 14,000 4,000 10,000
04 QIZFHAIAIIE R 14,000 4,000 10,000
OFAE SHA HAEIY
5,000,0002* 14} 5,000
OHAHE ERE HOI3|
5,000,000 % 14! 5,000
OFAH 3013 52013
4,000,0002 %14} 4,000
EPNER =N 18,000 18,000
307 @I2H0I™ 18,000 18,000 0
02 BIRIFAAII X 18,000 18,000 0
OHPE HAEMZNUR SFX7RIS ol
HESSHA(BEE 90%)
20,000,000 *141x90/ 100 18,000
HAHBSHOXA 51,010 45,220 5,790
201 LerH2 L] 22,280 19,280 3,000
03 A2 22,280 19,280 3,000
OFAHES0I2| 2HTIAIY XIR
3,000,00021% 14! 3,000
OHAHRSION FAHSAARS 25 S MA
2,000,00024* 14! 2,000




FAM: OlsEAE D
TEH: R AL
o e

el HAY

S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
OFAH2510/F "XIA=EH0ILHHICI0! " ZH2
3,000,0002* 14! 3,000
OXAHR3510|F HAHSRH 29
4,280,0002 % 14! 4,280
OXZEM(B2ZD|) T2 29
10,000,000 * 14! 10,000
301 L2 18,730 15,940 2,790
11 BALAHIXIS 10,890 8,100 2,790
OFAESIEHOILL, 25, HSSS I 0]
90,000+ 12+92*235| 1,620
OFAHE siHLSS I 0]
90,000 %5 x 1 450
ONAY L SHEAY AT AAIIX} o]
90,0005 * 1 450
OEHE 20| HIE(S) EIHA O]
50,0002 %91 450
OEHER0| SHHT I il
90,0002 *20% * 1 1,800
OZEHAHAMYTIAZAIKIHE] &IHR 0]
90,000 *20% * 1 1,800
OFAER35I0|F 29925 =0t2| YIS AALHIZ
8,000 +60H *4A! 1,920
OYFAl HAE LT 22 AlA} U 2HAl f2
8,0002*202*103] 1,600
OYFAl HAE SFAD|EICH Y AlAF 2 2HAl
M2 8,00021*202+53] 800
14 J|Et2 A2 7,840 7,840 0
OFAHSFIOZ HAHSF B2 T2 LAY,
40,0002 %2A12H7E 2+ 143 7,840
307 2I2H0I & 10,000 10,000
02 QIFAAAIIE X 10,000 10,000
OFAH X2AE| ASE T2 X
10,000,0002* 14! 10,000
HAHL DS 0BLHID] SAHKE HRIMA 3,600 0 3,600
301 YEEXS 3,600 0 3,600
03 AL 2R E 2GS (XILTHS) 3,600 0 3,600
O HZ0BHHI0l BAEG HRIHAH
100, 0002 *3% 128 3,600
(2)XNLHAEEOD | 29 2,800 2,800 0
p) 1,400
Al 1,400
201 LEt2dH 2,100 2,100 0
p) 1,050
Al 1,050
03 A2 | 2,100 2,100 0
OFAHRNIANSE T2 29
2,100,000 % 14! 2,100
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2AM: OtsaEAE
Y HAG R4 Y PS(ASEX/ L0l - HAH)
ciel: HAE 24 (ctol: F21)
SN - B SR - NBAR - BYS ofl Ao ] HIS2
| Al 52,811
(2)&tn 8 344 X 137,203 135,615 1,588
Dl 96,042
Al 41,161
307 2I12+01A 137,203 135,615 1,588
J| 96,042
Al 41,161
11 AISISXIAMEER 137,203 135,615 1,588
OStIZEE YA Y ¥ ats N
137,203, 00024+ 14! 137,203
Dl 96,042
Al 41,161
(2)etn 8 FAE ZAlH| X 8,736 8,736 0
J| 4,368
Al 4,368
307 QI2+01A 8,736 8,736 0
Jl 4,368
Al 4,368
11 AISISXIAMEER 8,736 8,736 0
Ostm % HAE A N
8,736,000 14 8,736
J| 4,368
Al 4,368
(2)HAESEA T2 MHSAX S 94,264 92,864 1,400
Dl 47,132
== 14,140
Al 32,992
307 2I12+01A 94,264 92,864 1,400
J| 47,132
& 14,140
Al 32,992
11 AISISXIAMEER 94,264 92,864 1,400
OFAESEHX T2 89 XJ
94,264,000 *1IH A 94,264
Dl 47,132
== 14,140
Al 32,992
(Z)HAESNS0PIHI0l 2E(SAUES) 252,262 240,272 11,990
Dl 91,631
& 27,489
Al 64,142
= 69,000
307 2I12+01A 252,262 240,272 11,990
J| 91,631




SN OFSEAED
HHM: HAW 84 Y 25(AEISEX/L0 - HAE)
el 348 |4 (CHo]: Mol
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
= 27,489
Al 64, 142
== 69,000
11 ARRIERAI B X 252,262 240,272 11,990
OFAHANSOBIHI0| S (SM0ES)
183,262,0002* 17§ 4 183,262
pJ 91,631
< 27,489
Al 64, 142
OHAHA NS00l XH2F2H| X
1,125,000 x4CH* 122 54,000
= 54,000
OFAHSBNSOBIH0| 4LEE J|2Re
1,250,00024% 128 15,000
= 15,000
(2FAELVS0PIC0 2Y(CH2EH) 165,682 153,692 11,990
pJ 82,841
< 24,852
Al 57,989
307 EI2H0IA 165,682 153,692 11,990
pJ 82,841
= 24,852
Al 57,989
11 AR S RAIE B X 165,682 153,692 11,990
OFAHANSOBIHI0| 2(CH25H)
165,682,0002 %14 165,682
pJ 82,841
= 24,852
Al 57,989
EEESENER =] 24,162 24,162 0
2 9,662
Al 14,500
307 BI2H0IH 24,162 24,162 0
=l 9,662
Al 14,500
11 ARRI=SRAIE B X 24,162 24,162 0
OFAHOSNIY 22X
24,162,000 14! 24,162
2 9,662
Al 14,500
(R)HELESO] X2 18,750 18,750 0
2 7,500
Al 11,250
307 BI2H0IA 18,750 18,750 0




FAM: OlsEAE D
Y HAG R4 Y PS(ASEX/ L0l - HAH)
ciel: Had 24 (Crol: &)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
= 7,500
Al 11,250
11 AIBIS XA E XS 18,750 18,750 0
OHAHE S012| 25 N
18,750,000 * 14! 18,750
= 7,500
Al 11,250
(=2)&d24 SEX 13,000 7,600 5,400
| 9,100
Al 3,900
301 LetEdE= 13,000 7,600 5,400
| 9,100
Al 3,900
01 AIBIEEEHS(SLEEZMNSA) 13,000 7,600 5,400
Ol S8XE AME
13,000,000 14! 13,000
| 9,100
Al 3,900
()L LE M2 EXA 70,208 41,642 28,566
= 35,104
L= 10,531
Al 24,573
307 2I1Z2t01 & 70,208 41,642 28,566
= 35,104
& 10,531
Al 24,573
05 QIZIRIEIZ 70,208 41,642 28,566
OMASEHEEAE AWUEE K3
70,208, 00021+ 14] 70,208
= 35,104
= 10,531
Al 24,573
(D)ANZEHAENYHEH 29X 170,000 145,700 24,300
& 24,500
Al 145,500
307 2I2t0| ™ 170,000 145,700 24,300
= 24,500
Al 145,500
10 M2SXAEHESSHIEX 170,000 145,700 24,300
OFELAMGSXNNE 2SKIA
170,000, 000& * 14! 170,000
& 24,500
Al 145,500
(D)HAUESEESEHS] 1,100 1,100 0




M OlsEAE
B A S8 U BH(ASSET/0 - HAd)
oel Bad =4 (Crel:mel)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
& 330
Al 770
307 2I12t01 & 1,100 1,100 0
& 330
Al 770
02 QIZHAAAIIE X 1,100 1,100 0
ODES oY L O 2= XD
1,100,000& * 1Al 1,100
& 330
Al 770
(S)BIEAED XA 25,000 25,000 0
& 7,500
Al 17,500
307 2I2t0| ™ 25,000 25,000 0
= 7,500
Al 17,500
02 QIRZHBAAIEE R 25,000 25,000 0
OBAEHERED 29
25,000, 0008 %1 4! 25,000
& 7,500
Al 17,500
(D)8 AEMRIEEXNSII2Y 5,470 0 5,470
< 1,641
Al 3,829
201 et | 5,470 0 5,470
& 1,641
Al 3,829
01 AFR2eld] 5,470 0 5,470
OWdEAE MelEF 72
683, 750&*4=J | %201 2 5,470
& 1,641
Al 3,829
HAE2HAHI(OtSHAHED) (JIEH/DJIE 597,686 519,933 77,753
s 174,200
| 12,204
= 26,741
Al 297,142
= 87,399
IR A 495,278 424,421 70,857
o 174,200
Il 12,204
& 26,741
Al 194,734
= 87,399




2A: OFSHAED
HH: HHSAPH(OISHAEW) (DIEHDIE}
el QI E S (EERSED)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
REEEE] 120, 137 112,742 7.39%
101 QI24H] 116,882 109,697 7.185
02 JIEFRE S 51,194 44,661 6,533
OFAH2519 T HAEXTAH AT LIIR
0r2) 51,194
—Jl=s 2,600,000+ 12122 31,200
—JIEZ (ISR
40,0002+ 1H 122 480
—A2teI2Rag
9,620 %20 A1 222 * 122 4,618
—SHF A 140,000 *2 3 x 122 3,360
— It A
2,600, 0002 *84%+86%+ 1/30% 1/7+84n*2 1,503
— S22 118, 040 x2Hx 12 2,833
—4UE 300,000 %2122 7,200
03 22X (IH) 22X L4 65,688 65,036 652
OOIIS HAEHOIEA 228 B4 65,688
—Jl2s 2,497, 72024+ 1 =128 29,973
—FEFIHI 2,497 , 72024750+ 1H*23] 3,747
—Hoay 2,497, 720 21%50+ 12 %23 2,498
PR {EINY
40,0004+ 12128 480
—A2II2R4
14,6512 % 150%+ 15A| 2+ 12+ 122 3,956
—524224Y
117,208 2% 1508+ 12 * 116 20,39%
—ARRSEIISY
117,208+ 12 152 1,799
—Z Mg Al 140,000+ 1+ 122l 1,680
—uWEEXH| 100,000 %124 122 1,200
204 224 AHH| 3,255 3,045 210
02 ZZEXH| 3,255 3,045 210
OXAAS510|E HAEX T AHAIZHHIHIQER!)
e f= el
155,0002%35/40n*2 & » 122 3,255
(2)HALEXICAL HIXIX 24,408 23,520 888
p) 12,204
Al 12,204
101 Q124H] 24,408 23,520 888
p) 12,204
Al 12,204
02 JIEFRE S 24,408 23,520 888
OFAEH2519/T HAEXITAL 22 BHXI(AIZER
Kotz 24,408, 00024x14} 24,408
p) 12,204




2A: OFSHAED
M HYSHAH|(OFSHAED) (JIEHIIE
s 1523 (CHl: X 21)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
| Al 12,204
(2)0l=E5 L Q=S 40,413 38,506 1,907
z 26,080
[ 1,956
Al 4,564
= 7,813
101 Q124H 38,785 36,983 1,802
P 26,080
[ 1,956
Al 4,564
= 6,185
02 JIERIE 4 38,785 36,983 1,802
OOt=E SR 38,785
—ds 28,080,00024* 1% 28,080
P 20,464
[ 1,685
Al 3,931
— A2t 2R4g
9, 160R* 1H*20 A 2H+ 122 2,19
z 1,759
[ 132
Al 308
— I A
2,329, 1002 *84%+86%+ 1/30%1/7+80AI 2 641
z 513
[ 38
Al 0
—Z Mg Al 140,000+ 1+ 122l 1,680
= 1,344
[ 101
Al 235
—IIELY (R
40,0002 * 112 480
= 480
— NS 271, 750241+ 128 3,261
= 3,261
-SRI 111,930+ 1% 122 1,344
= 1,344
— A2tz sy
9, 1602 * 1 *10AI2Hx 12 1,100
= 1,100
204 B4 Y| 1,628 1,523 105
= 1,628
02 ZIZEXH| 1,628 1,523 105




SN OlSEAED
M HYR2AAH|(OISHAED) (JIEHIIE
Ct2: o129y (CHo| M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
OEEEES:
155, 0002 x35/40 A1 2+ 12% 122 1,628
== 1,628
(VXN HSEAEIE SEARIZEIXF 2121H] 133,776 124,551 9,225
b= 87,341
[ 6,551
Al 15,284
= 24,600
101 QI24Hl 124,416 116,271 8,145
F) 79,853
[ 5,989
Al 13,974
= 24,600
03 BRA(IHL) 22X 2+ 124,416 116,271 8,145
OOISSE AR AL Q124
2,200,000 *3%* 122 79,200
b= 63,360
[ 4,752
Al 11,088
OAlZt2IZ2R4g
16,00024*3Z* 154 2bx 122 8,640
F=s 6,912
< 518
Al 1,210
OsIX=YZ 210,000 *3* 122 7,560
r=s 6,048
S 454
Al 1,058
OSZAEIE Al 2% 0RI22X 34!
8,0002*3%+7 U122 2,016
b= 1,613
[ 121
Al 282
O#AHHIR Y 200,000 % 1* 122 2,400
b 1,920
[ 144
Al 336
O32=¢ 2,200,0002 % 10%+3F *23] 1,320
F 1,320
OYZE=IHI 2,200,000 *75%+3H*23] 9,900
=S 9,900
OE4g 1,440
— i Xt 40,0004+ 12& 960
=S 960




2A: OFSHAED
M HYSHAH|(OFSHAED) (JIEHIIE
s 1523 (CHl: X 21)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
—JIEt 20,0002 %2122 480
= 480
ORI ENSY
2,200,000 1/30+3* 15 3,300
= 3,300
OF A=A 140,000 *3%H 122 5,040
= 5,040
OnEL=xY| 100, 0002132+ 122 3,600
= 3,600
304 ZRY3E 9,360 8,280 1,080
= 7,488
[ 562
Al 1,310
NEEEES 4,680 4,680 0
OOLSSEIAZEIAL 201013 2E2
130,000 %3 122 4,680
z 3,744
[ 281
Al 655
02 RDIAALEZ 4,680 3,600 1,080
OOLSSEAIZEIAL AL EE 2E2
130,000 *3%* 12 4,680
= 3,744
[ 281
Al 655
(2)0ISEX DA IHA XIL(01=) 139, 149 91,188 47,961
= 46,019
[ 13,806
Al 32,213
= 47 111
101 Q124H 139,149 91,188 47,961
= 46,019
[ 13,806
Al 32,213
= 47 111
02 JIEFEIE 131,149 0 131,149
OOI=ES X WAF IHA X2
84,038,0002* 14! 84,038
= 42,019
[ 12,606
Al 29,413
OJ1=3(F:iHe) 360,0002+5%x 122 21,600
= 21,600
OXSEZHI 96,870 +5Z* 122 5,813




A OlEEAEDL
HE: MH2HAH|(0ISHAED) (JIEHIIE
el Q1523 (chel: & 2l)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
= 5,813
OE=e 60,0002 *52 122 3,600
=S 3,600
Ot A 2,202,00021% 14! 2,202
= 2,202
(OFSEL=1alu] 140, 0002 x5 % 12! 8,400
= 8,400
(@INFd3 RS, 9, 1602 * 10AI 252+ 122 5,496
= 5,49
04 JIIHREREE S 8,000 91,188 83,188
OOIS=XI WAL THH X
8,000,00091% 14! 8,000
z 4,000
[ 1,200
Al 2,800
(2)OtS=X WAt IHA K (S5 37,39% 33,914 3,481
= 14,760
[ 4,428
Al 10,332
= 7.875
101 Q1] 24,000 31,754 AT, 754
7 12,000
[ 3,600
Al 8,400
03 2R (RI[H ) 22124 24,000 31,754 NT,754
OOIESEXI WAL THH X
24,000,000 % 14! 24,000
= 12,000
[ 3,600
Al 8,400
304 IZRE2S 13,3% 2,160 11,235
= 2,760
[ 828
Al 1,932
= 7.875
04 ZRE(RIH)2EN PEHEFHZ S 13,39 0 13,395
OOISEXI WAL ALEE 223
1,560, 00021% 14! 1,560
= 780
[ 234
Al 546
OOISEXI WAL 2013 223
1,560,0002 14! 1,560
7 780




A OlSHEAEDL
M HHSHAHI(0FSHAED) (IIEHIIE
C9l: ol (Crol:xel)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
< 234
Al 546
OOtS=EX LA} E1X=22
2,400,0002* 14} 2,400
7 1,200
[~ 360
Al 840
OYEEIH 1,950, 0002/ 75%+23] 2,925
= 2,925
OXsay 40,0002+ 12* 122 480
= 480
OIIHE A 1,200,00081 %14} 1,200
= 1,200
OFAZA| 140, 00024 *1 Hx 128 1,680
= 1,680
OnSEZH| 10,0002+ 12128 1,200
= 1,200
oF24+d 1,950, 00021 *10%+ 124*23 3%
= 390
JI=2H] 102,408 95,512 6.8%
J|=2H| 102,408 95,512 6.8%
201 Yer2 %] 25,728 2,792 2,936
01 AtRZ2l] 25,728 22,79 2,936
O=AEX ¢ 20,000 21% 188 A 122 4,320
OS20HAH| 8,0002 64118 * 122 10,368
OBtz 100,0002* 122 1,200
OARR TARYH| 50,0002 122 600
OARE 244 8,160
—SADI(CHE) 22l 1,000,00024*1CH 1,000
—IRIED| %2l 100, 00024 *4CH*50/ 100 200
—=2AD| EY 200,00024*53]*1CH 1,000
—ZRIHJ|(BY) £4
200,000 %53 *4CH 4,000
—I2IEPD|(~e) EY
200,00024*55]*1CH 1,000
—pPCe2) 100,000 % 18CH*20/ 100 360
—DJIEt4=2IH| 50,0002 * 122 600
OJIEH Al 21| 5,00024* 18 * 122 1,080
500 O10] 71,280 67,320 3,960
01 =LHoib 71,280 67,320 3,960
ool 20,0002+ 18 12128 51,840
O22/04H| 90,0002 * 182+ 12 19,440
203 YR 4,200 4,200 0
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